

PP42153

MIHÁLY BENCZE - ROMANIA

If $a_k, b_k > 0$ ($k \in \overline{1, n}$) then:

$$\sum_{k=1}^n \frac{1}{\frac{1}{a_k} + \frac{1}{b_k}} \leq \frac{1}{\frac{1}{\sum_{k=1}^n a_k} + \frac{1}{\sum_{k=1}^n b_k}}$$

Solution by Daniel Sitaru.

$$\begin{aligned} \sum_{k=1}^n \frac{1}{\frac{1}{a_k} + \frac{1}{b_k}} &= \sum_{k=1}^n \frac{a_k b_k}{a_k + b_k} = \sum_{k=1}^n \left(\frac{a_k b_k}{a_k + b_k} - a_k + a_k \right) = \\ &= \sum_{k=1}^n \left(\frac{a_k b_k}{a_k + b_k} - a_k \right) + \sum_{k=1}^n a_k = \\ &= \sum_{k=1}^n \frac{a_k b_k - a_k^2 - a_k b_k}{a_k + b_k} + \sum_{k=1}^n a_k = \\ &= \sum_{k=1}^n a_k - \sum_{k=1}^n \frac{a_k^2}{a_k + b_k} \stackrel{\text{CBS}}{\leq} \\ &\leq \sum_{k=1}^n a_k - \frac{(a_1 + a_2 + \dots + a_n)^2}{(a_1 + b_1) + (a_2 + b_2) + \dots + (a_n + b_n)} = \\ &= \sum_{k=1}^n a_k - \frac{\left(\sum_{k=1}^n a_k \right)^2}{\sum_{k=1}^n a_k + \sum_{k=1}^n b_k} = \\ &= \frac{\left(\sum_{k=1}^n a_k \right)^2 + \left(\sum_{k=1}^n a_k \right) \left(\sum_{k=1}^n b_k \right) - \left(\sum_{k=1}^n a_k \right)^2}{\sum_{k=1}^n a_k + \sum_{k=1}^n b_k} = \\ &= \frac{\left(\sum_{k=1}^n a_k \right) \left(\sum_{k=1}^n b_k \right)}{\sum_{k=1}^n a_k + \sum_{k=1}^n b_k} = \frac{1}{\frac{1}{\sum_{k=1}^n a_k} + \frac{1}{\sum_{k=1}^n b_k}} \end{aligned}$$

□

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA

Email address: dansitaru63@yahoo.com